### **RESOLUTION NO. 2019 - 108**

A RESOLUTION APPROVING AND AUTHORIZING THE MAYOR TO EXECUTE AN AGREEMENT WITH ARDITO CONSTRUCTION COMPANY, INC. FOR STORMWATER REPAIRS ON SPRINGS INDUSTRIAL DRIVE IN THE AMOUNT OF \$78,381.00; PROVIDING FOR AN EFFECTIVE DATE; AND FOR OTHER PURPOSES

WHEREAS, the City of Powder Springs Public Works Department identified storm drainage pipe deficiencies on Springs Industrial Drive that require repairs to avoid road damage and to provide proper drainage;

WHEREAS, quotes were solicited and obtained and the City desires to accept the quote submitted by Ardito Construction Company, Inc. ("Ardito"), which was deemed the lowest responsive quote and in the best interest of public health and welfare;

**NOW THEREFORE, BE IT HEREBY RESOLVED** by the Mayor and Council of the City of Powder Springs that it approves and authorizes the Mayor to execute an agreement with Ardito for repairs to storm drainage pipe on Springs Industrial Drive in the amount of \$78,381.00. This resolution shall become effective immediately upon adoption.

SO RESOLVED this 16th day of September 2019.

Albert Thurman, Mayor

Patrick Bordelon, Council Member

Doris Dawkins, Council Member

Patricia Wisdom, Council Member

lerry Lust, Council Member

Thelma C. Farmer, Council Member

ATTEST:

Kelly Ayt City Clerk

## Powder Springs StormWater Projects (2019 - 2020)

Priority	Project Name	Amount	Council Approved	Vendor Signed Contract	PO Issued
1	Spring Industrial	\$78,381.60			
2	Mustang Drive	\$30,720.00	8/19/2019	8/28/2019	
3	Sharon Drive	\$14,456.00	8/19/2019	8/27/2019	
4	Liberty/Silver Brook/Deer Creek	\$20,750.00	8/19/2019		
5	Dillard Street	\$15,543.60			
6	Richard D. Sailor	\$40,500.00	8/19/2019		
	Ten Oaks	\$86,857.80		completed	
	Powder Bay	\$15,950.00	completed		

## PUBLIC WORKS DEPARTMENT

# Result of Request For Quotes (RFQ) for Stormwater Drainage Pipe Repair Work AT 3004 Springs Industrial

		w	N	_	
		INTERNATIONAL BUSINESS SOLUTION GROUP	DAF CONCRETE INC.	ARDITO CONSTRUCTION COMPANY INC.	NAME OF COMPANY
			\$ 121,847.00 \$	\$ 78,381.60	BID AMOUNT
*			\$ 120,857.00		CORRECTED BID AMOUNT
		NO RESPONSE		RECOMMENDED FOR AWARD OF THE WORK AT \$ 78,381.60	REMARKS

**Exhibit A: Summary of Quantities** 

## 3004 SPRINGS INDUSTRIAL DRIVE STORM WATER DRAINAGE REPAIR

Item No	Description of Work	Units	EST QTY	UNIT	EST COST
		LS	1	1,250.00	1,250.00
150-1000	Traffic Control			871.20	435.60
163-0232	Temporary Grassing	AC	0.5		
163-0240	Mulch	TN	0.5	25.00	12.50
163-0550	Construct and Remove Inlet Sediment Trap	LF	10	3.50	35.00
165-0030	Maintenance Of Temporary Silt Fence	LF	270	1.00	270.00
171-0030	Temporary Silt Fence Type C	LF	270	2.00	540.00
210 - 0100	Grading Complete Including Clearing	LS	1	8,475.00	8,457.00
441-0014	4" Concrete Parking Lot	SY	145	71.55	10,374.75
441-0600	Concrete Headwall	EA	1	1,492.20	1,492.20
444-1000	Sawed joints existing in pavement PCC	LF	365	2.00	730.00
603-2180	Stone Dumped Rip Rap	SY	80	42.00	3,360.00
50-1200	36" Diameter Concrete Storm Water Pipe	ĹF	300	115.25	34,575.00
610-1880	Remove Storm Water Pipe all sizes	<b>L</b> F	300	10.00	3,000.00
610-2815	Remove Concrete/Pavement	LF	145	4.83	700.35
700-6910	Permanent Grassing	AC	1	800.00	800.00
700-800	Fertilizer Mixed Grade	TN	1	435.60	435.60
998-1500	# 57 Stone	TN	102	35.00	3,570.00
	Allow for Concrete Collar	EA	1	850.00	850.00
	Remove and Install Fence	LS	1	350.00	350.00
	SUBTOTAL				\$71,256.00
	Add 10 % Contingence				\$7,125.60
	TOTAL				\$78,381.60

**Exhibit A: Summary of Quantities** 

## 3004 SPRINGS INDUSTRIAL DRIVE STORM WATER DRAINAGE REPAIR

			EST	UNIT	
Item No	Description of Work	Units	QTY	PRICE	EST COST
150-1000	Traffic Control	LS	1	\$2,000	\$2,000
163-0232	Temporary Grassing	AC	0.5	\$1,000	\$1,000
163-0240	Mulch	TN	0.5	\$500	\$500
163-0550	Construct and Remove Inlet Sediment Trap	LF	10	\$10	\$100
165-0030	Maintenance Of Temporary Silt Fence	LF	270	\$1	\$270
171-0030	Temporary Silt Fence Type C	LF	270	\$2.50	\$675
210 - 0100	Grading Complete Including Clearing	LS	1	\$25,000	\$25,000
441-0014	4" Concrete Parking Lot	SY	145	\$65	\$9,425
441-0600	Concrete Headwall	EA	1	2,500	2,500
444-1000	Sawed joints existing in pavement PCC	LF	365	\$5	\$1,825
603-2180	Stone Dumped Rip Rap	SY	80	\$100	\$8,000
50-1200	36" Diameter Concrete Storm Water Pipe	LF	300	\$100	\$30,000
610-1880	Remove Storm Water Pipe all sizes	LF	300	\$200	\$6,000
610-2815	Remove Concrete/Pavement	LF	145	\$35	\$5,075
700-6910	Permanent Grassing	AÇ	1	\$1,000	\$1,000
700-800	Fertilizer Mixed Grade	TN	1	\$200	\$200
998-1500	# 57 Stone	TN	102	\$100	\$10,200
	Allow for Concrete Collar	EA	1	\$3,000	\$3,000
	Remove and Install Fence	LS	1	\$4,000	\$4,000
	SUBTOTAL				\$110,770
	Add 10 % Contingence				\$11,077
	TOTAL				\$121,847